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K 1 18.2 °C|19.7 °C|[23.6 C| 24.5 °C|26.8 “C[26.6 °C|22.3 °C[19.1 C[20.7 °C|23.7 C[14.9 °C|19.8 C
IKFAT P 8.0 7.6 7.1 7.6 7.6 7.7 7.5 7.4 7.6 7.9 7.6 7.6 [5.8~8.6
BOD(mg/0) L] LRG| LR LR DR LR IR LRG| LR LA LR LRG| 25
COD(mg/0) UAT | R RS R ORWE| RS Lo | R UREE| R URWE| LR 25
Y E i (mg/ 0) 2T 2| oK 2RUE| 2G| 2uE| oM 2N 2RWE| 2oRu| 2K 2| 50
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KRIGEREE &/ cai 0] 3000|¥rmmAz mg/ Oﬂg%% 0.2
T ) VAR mg/0 [0. 14 NS me/0 oﬂg?% 0.02
e A mg/0 ;)%%%’ 3|1,2-Y =gy mg/0 Oﬂg%% 0.04
Tgh A me/0 %%; o|1,1-orma=FL me/0 oﬂg?% 0.2
VAR SRS mg/0 ;)%%%’ 10[v2—1,2-VranzFL o me/0 0;,25% 0.4
Vst~ G A B mg/0 %‘{)ﬁg 10{1,1,1-F)Zam= 2 ma/0 ojg?% 3
ZA=NN=R R mg/0 ;)%%%’ 2|1,1,2-N) ez mg/0 Oﬂg%% 0.06
EREGAE mg/0 4.2[ 120(60)[1,3-> 7R B~ mg/0 ojg?% 0.02
R mg/0 [0.1K5H 16|F77 .4 mg/0 oﬂg%g 0.06
BRI LR OZDALEH mg/o | V00 00sfpven mg/o | V20 003
T ALEW) mg/0 0.1 HFA~mnr mg/ 0 %% 0.2
SR O DALY mg/o | 00 0| rUEOAn me/o | Q0L o
Y AN mg/0 %?% 0.5[IZ>F M EDILEW mg/0 0.17 10
WHR B OZDILEY mg/o | Y0l or|soxmUEOAD mg/0 |0.54k 8
KERR T A3 ASRE OO AL A | me/0 0;2%; 0.005 g%;%%gég;ﬁMt A IARRRIE [ g 41| 100
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ESES mg/Q | AR | A %bmé’? L,2-Y/mazFLy mg/0 Oﬂg({% oﬂg{oﬁ% 0.04
8 mg/0 oﬂg?% 07;'2?% 0.01|1,1,1- R rmm=s mg/0 ojg({)% ojg({)% 1
e AW mg/0 %?% %?% 0.05|1,1,2- R rmm=s mg/0 ogg%g ogg%g 0.006
WHRBOZDILAEY mg/0 05'2?% oﬂg{o% 0.01|1,3-v7rRT R~ me/0 0;2{0%2 0;2{0%2 0.002
ks mg/0 0;2%; 0;2%; 0.0005|F %7 A mg/0 ogfg{oﬁg ogfg{oﬁg 0.006
TN KERHE A me/0 | Attt | Fpr | RIS o v mg/o | 90 OO0 0.003
RVIE 7 ==L me/0 | Rttt | s | RI A 7 mg/0 Ojg?ﬁ; oﬂg{oﬁ% 0.02
NZarzFL mg/0 oﬂg?% 05'2{0% 0.03~ me/0 Ojg{o% Ojg{o% 0.01
FrFraRIFL mg/0 ojg?% ojg?% 0.01[£L L RUZDILEY me/0 ojg{o% Ojg?% 0.01
Syanisy mg/o | O O 00zfLavayy me/t | Ul | 000
DUl R 3 mg/0 0;2%; 0;2%; 0.002(/mE=F L mg/0 0;2?% 0;2?% 0.002
L2~y raaxiy mg/ 0 0;2?% 0;2?% 0.004
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